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o 10£2= =5 o0 bt SLUZ
60 = A (Usts)
Q.NO. 2Write Six short answers to the following 2x6=12 & F e Loty gefdin 2Ry
Define proportion | {_:_'! A0t | 1
ta AP prunglt T WSR2
If E of the students in a school have been away for a holiday. How many in every hundred have been on
holiday ?
Express 95 % as fraction in their lowest form 21 L:;,CJ’uvTJ;/ 795% | 3
What is meant by Ushr ? ted e | 4
Calculate the amount of Zakat on an amount of Rs 5,00,000 wEpndsf il 500,000 | S
Define profit 7'7'_5'( YA
A= 12%  eived= 2640 4 B ared | T
Find cast price when SP=Rs 2640 Loss=12% ' |
hltn=Rs. 2760 , oA =5% HLEpresjed| 8
Find sale price when MP=Rs 2760 , Discount=5%
What is meant by Current Account? TH,’?}.—&;“&; 9
Q.NO. 3 Write Six short answers to the following 2%6 =12 S Fahg B Loty g tidiln 3 Adr
Define Saving Account 2y flemLe | )
Write definition of excise duty f—gf wASdpad | 2
What is meant by Income Tax ? e sl c—d“g fl 3
Simplify it i ym 7B % xV¢ ym 7172 2 yxrz Z? x x6y? 72 Z’:" A4
Fp i rni b K e o 6400 Jukts | 5
The radius of the earth is 6400 Km convert it into meters and write the solution in Scientific Notation
Write down the characteristic of the given logarithms number 0.000721 0.000721 2Zpser itowd s | 6
Write the first three terms of given an=;1; an=§1;; f—.:_'aFJuf-oK 7
Define Geometric Sequence (Progression) wHyFlais | 8
Find the G.M between 3 and 27 wf sl poenl 21 4 3| 9|
Q.NO. 4 Write Six short answers to the following - 2x6=12 S Fenn P Lot g LR 4 A
What is meant by complement of a set ? ‘i'q_.:l /l_f‘;..*..'-:k‘r Lor 1
Find AUBif A={1,22,34}, B={7,89,10} A={1,234}, B={789,10} Ji&Z mAUB | 2
Find A x Bif A={1,23} , B={xy,z} A={123} , B={xyz} Ji&Z#AxB | 3
‘ /16 fecif X F -y 3'4( ebsl g 4
Write the coordinates of a point lying below x-axis and on y-axis at a distance of 6 units
Represent the point on graph C (-5, - 1 C(5,-1) /v 5
Convert 127°F into °C s °C{121°F| 6
What is meant by Cumulative Frequency? : tesdpfe st | 7
Find the median  5,4,5,4,3,4,2,6 54,543,426 ZZpcu| 8
What means mode ? teslsfet | 9
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Q.NO. 2Write Six short answers to the following 2%6=12 P enn P Lty g klion 27Uy
Define proportion | Faffx| 1
) SE P E Ly Bungdt % PSS | 2
If % of the students in a school have been away for a holiday. How many in every hundred have been on
holiday 7
Express 95 % as fraction in their lowest form FPup LTS 95% | 3
What is meant by Ushr ? il | 4
Calculate the amount of Zakat on an amount of Rs 5,00,000 2ol gf aSesa 500,000 | 5
Defige profit HapE |6
AF=12%  chped= 2640 u B paied | T
Find cast price when SP=Rs2640 Loss=12%
hitn= Rs. 2760 , wA =5% L krasjed| 8
Find sale price when MP =Rs 2760 , Discount =5 %
What is meant by Current Account? St e sisiesS | 9
"Q.NO. 3 Write Six short answers to the following 2x6=12 Z Feop P Lot gefdion 3 Adr
Define Saving Account 2'-.!'.._-(..43 /-7 Lo Lo 1
Write definition of excise duty 2;! s ASdpak | 2
What is meant by Income Tax ? el /]‘fsfg |f1 3
Simplify it < ym 7B x x¥6 1P 72 x3 ym 2 x x¥yR z? @’ 3| 4
L p I eir i b s cie ¥ 6400 Sukets | 5
The radius of the earth is 6400 Km convert it into meters and write the solution in Scientific Notation
Write down the characteristic of the given logarithms number 0.000721 0.000721 2E ¢k sitond s | 6
Write the first three terms of given an=;1,; an=:-11; gfﬂu:‘& 7
Define Geometric Sequence (Progression) SZ Y ARV R
Find the G.M between 3 and 27 2 el penl 21 s 3| 9
Q.NO. 4 Write Six short answers to the following  2x6=12 & e Lot ge B SRs 4 A
{ What is meant by complement of a set ? PPV eudd Cow | 1
| Find AUBIf A={1,2,34}, B = {7,8,9,10} A={1234}, B={7,89,10} JizFp#AUB| 2
Find A x Bif A={1,23} , B= {xy,z} A={123} , B={xyz} JiZ#»AxB | 3
#S16 fecibx pfy 2l s L] 4
Write the coordinates of a point lying below x-axis and on y-axis at a distance of 6 units
Represent the point on graph C(-5,- 1) CG5,-D 2_'-’ A SSus | 5
Convert 127 °F into °C &yt °C/121°F | 6
What is meant by Cumulative Frequency? - S Y cnsidS £ 7
Find the median 54,5:4,3,4,2,6 54,543,426 ZFekou,| 8
What means mode ? eV | 9
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NOTE : Attempt any THREE questions from this part 8x3 = 24 Pkt

W7 )

§ LLU I, ZSTA0 I\ K301 St VLS00 310 Sy asafuse 125 £ L
A manager plans to produce 100 bicycles with the help of 25 persons working 4 hours daily. How many bicycles
can be made by 40 persons if they work 3 hours daily ?
b S0 L ikt nrdss 400,000 SUTun I Ui mpLidsa il L/
An amount of Rs 4,00,000 left as an inheritance is to be distributed among a widow and four daughters , work out
the share of each.

(A)-5

(B)

ol s i sy 1s 6850 Sisitess 6590 k)i
If a television is purchased for Rs.6590 and sold for Rs. 6850.Find the profit percent.
Lo Borifal foob6% &L 444600
| Find the compound profit on Rs.600 for 4 years at 6% per annum.

(A)-6

(B)

Liss 45000 Fun U Pion s 400 st B3E4r150058202 400 120002 F1 s 400 LIS 20T L)1
.P..rn.u.lm:._. e Vil le-
If gross pay of a person is Rs.45000 then calculate his net take to home salary after deduction of Rs.400 as
income tax , Rs.1200 as benevolent fund,Rs.1500 as G.P.Fund and Rs 400 as Group insurance
| t=2541=13 R=67 .f&Zpm HixH="L /)
If H= "™ findHwhenT=13,R=67,andt=25

(A7

B

Find Three A.Ms. between 6vZ and v2 i Lol T 62
(ANB)NC = AN(BNC) LEeainC ={23456)} 4B ={13,57}, A= {23579} /i
H A={23579}, B ={1,3,57) and C = {2,3,4,5,6} then verify that (AN B)n C = An (BN C)

(A)-8
(B)

Draw graph of an equation y=4x+ 1 W«"..L\L_\Q%n&u+m sk
For the data 3,5,6,8,8,9,10 , find Mean and Mode Lt ¥3,5,6,8,8,9,10 r

A)-9
(B)
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@ 20= o5 f/»...'.o/r ‘ u’g;d;‘z
15= 4 7o
S b Loze na t s esi\ L MQKQLe-w?_'.rg..- DusA,B,C eyzlilrs e
szl e S S M S Usinie L] s e
1A
0.13 as percentage is ‘LJ"AJOJB ¢))
13% (D) 10% (© 30 B 13 A
Lowest form of 75 :95 is LTS 75:95| ()
17:15 ™ 19:15 (© 15:19 ® 1517 W
] Zakat is deducted at a rate of ?.;.sz.c,/‘;/ J:"'JJJ €))] |

55% (D) 45% O 3.5% ®) 2.5% (A
e 60 (3 (SIS e Bsdis | @

On a crop produced on natural resources, Ushr is deducted at a rate of
10% D) 20% W© 5% B) 25% (A
Profit is earmmed when Siee S %A | (5)
SP = CP ebrjed = 4x52i(C) SP<CP wisped < 45ad (B) SP>CP  =djnd >u/zi(A)
SP=MP =3jasd =adlbuges (D)

| The periodic installment to be paid by the insured is called sl TS sL55 | (6)
Mark up wifs (D) ~ Premium (¢ (C) Discount =:i¢3(B) Bomus 'z (A)
The return earned by the bank on loan is named as P PRI o Fikif sz gzt | (D
| Profit ¢t (D) Bomus '+ (C) Markup i (B) Premium £ (A)
The tax in addition to the price of the article is called wZ At ilzs | ®
Sales tax JL¥ (D) Exciseduty (#Af (© Incometax 2fi B) tax oFf (W
The tax charged onall the taxable income is called St el b T f Us 22 En | 9)
Direct tax u"-’ =iy (D) Excise duty Gg);‘l.—.fr (C) Sales Tax u‘g X (B) Income Tax u"g /! (A
vz =2 JVZ =7 [0 |
2U@ 27 (@2 ® 2P W, |
as 0f2,6,18, ... is teyfedd a5 £ 2,6,18, s | QD]
164 D) 162 (© 161 (B) 160 (A i
G.M between 1 and 8 is Ce Vbl sl 81 | (12) }
VIO -2Z© +2ZI® 22 W]
Therange of Ris  R={ (4,5),(5,4),(5,6),(6,4)} R={ 4,5,(54),(56),(6,0} <« E\ R c13>i
{6} D) {5} © {4} @ {4,5,6} W ?
For y=2 in2x-y=6, wehave x=7? x=? &, y=2 £ 2x-y=6 |4 |
4D 4© -2@® 2@
T =22 s called e X, =52 a5)

Wcighted mean 4-5}s(D) Mean 4 ( C) Geometric mean 4-sid* (B) Arithmetic mean s-sidl> (A)
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wr 10 &2 = =3, asen) Pz
60 = A F S e
. (JJI.A’) .
Q.NO. 2 Write Six short answers to the following ~ 2x6 = 12 _é-'-cj =iz A Lolirgaltdits 2 Ay
’»Deﬁnc percentage : Iz A A
& od iSSP unE LI Mk 80 Ry K BO0L B4 | 2
If there are 800 cars in a parking and 80 % of them are Pakistan made , find the number Pakistani cars.
Find the value of x in the proportion 20:50: 8:x ool x LA L20:50:8:x| 3
Define inheritance 2y 8 | 4
Calculate Zakat on gold amounting to Rs. 11,10,000 el sInges 11,10,000 sASLr S| 5
Find the CP when SP=Rs 672 Profit=5% 5% = C4sb12= =b,)cd Giippsiad | 6
Define loss. : 2'( Y AR A
2Diblu=2960 fuaAd=5% Bob,od] 8
Find the selling price when MP = Rs 2960 , Discount = 5%
[¥% =Rs 129.4542 s Jhiy = Rs 84.100] & -5 bir 2w ligdas, 50 | 9
Convert 50 pounds into US Dollars, when [US Dollar = Rs 84.100 and Pound = Rs 129.4542]

Q.NO.3 Write Six short answers to the following ©  2x6 = 12 FPrz P Lot g tdie 3 Aoy

t L G Z LI BT 041000 6 For L g, 22010 % 1|1
If we invest Rs.1000 in a saving account @ 10 % profit per year .How much would we have in one year?
What is meant by sales tax ? teu etk | 2
W F S5l 2S5 % I & 6,00,000 Juliepfebog| 3
If annual value of a flat is Rs.6,00,000 ,then what amountof the tax will be payable at a rate of 15% ?
| Write in scientific notation  0,00018 0.00018.27 e 25 | 4
| Solve logs (x+1) =2 | logs (x+D)=2 27r | 5
' Solve ';:fg = ’;:i = S AN
Find Geometric Mean between 9 and 5 et I K
| What is meant by Arithmetic Mean | fedWasng® | 8
J Write the first two term when &, =3n+5 ' - -f-’{(bu&"'tfan =3n+5| 9 |
Q.NO. 4 Write Six short answers to the following  2x6 = 12 &, P2 Lot ge s 4 S
EVhat 13 meant by intersection of sets? el il = CuL i J 1
L A J A={34,5} s U= {1,234567 Si | 2
IfU={1,234,5,67}and A= (34,5} Find A°= 9 _
1 _ L Anc ) c= {3457} sA={1,478) /1] 3
|If A={1,4,7,8}and C={3,4,57} Find A nC |
| Using formula convert 150 °F into °C LEURLC S150F 2nl SJours | 4
,ir Represent the point B(3,2) on the graph g-'-" Aiges IS B, D4 Jien! 5
| What is Cartesian plane ? Ted Weidiuf x| 6
' Find the range for the following set of data 2 9.3,6,12,8 2936128 2 ken ity | 7
| Forthe dataset 6,2,4,3,4,5,4 , 5 Find the modian . &%l pu i 6,2,4,3,4,5,4.5 oo | g
Lmd Geometric mean of 2,4 and 8 . _4?,»;,,,‘5/ 8 w24 9 —J
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NOTE: Attempt any THREE questions from thispart ~ 8x3=24 F oL et oo

|

| S LT de S HT10 £03928 O 218 g #63 2 ¥14
14 cows consume 63 Kg of hay in 18 days. How many cows will eat 770 kg of hay in 28 days at the same rate?
L N Sd 125 4SNP B S LIS IA L i idrs 400,000 Lo
Najeeb left a wealth amounting to Rs 4, 00,000. He left behind a widow while they did not have any child. Find
share of Najeeb’s widow.

S e BB LS e 2:3:7 g g 67200 P Leidl
Three members of a firm divide the profit Rs 67200 among themselves in a ratio 2. 3 : 7 .What is the biggest
share of the profit
B L LU b f a4 g4a/50,000
Find the compound profit on Rs 50,000 at 4 % for m. years

B)

o L3 pp iR dSol ek S B30 ik e S S 43916 20 % £ ¢ 401404025t dl L)
The price of a television is Rs. 14040 inclusive 20% excise duty .find the amount of excise duty .Also find the

price of television without excise duty?

Evaluate m‘ﬁpww.ﬁ using logarithm table . m.mqﬂﬂwf N....H c_\ h.tre.i\ gq.._

(A7

®

Insert four geometric means between 1/8 and 128 bl e nl 128 1 1/8
LA (ANBINC= An B NC) Jx C={2,3,4,5,6}4B={1,3,5,7} ,A={ 2,3,5,7,9 1/
If A={2,3,5,7,9 },B={1,3,5,7} and C=1{2,3,4,5,6 } then prove that

Find(AnB)INC = AN B nCO)

(A)-8
B

Draw the graph of y=x+7 y=x+7 N.._,...k\fwtﬂw&m@t
12346811  Zpb B jsdpd Lirdes
Find the standard deviation and variance for the values given 1,2,3,4,6,8,11

B
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